o

OO00OO000 OoOooocoooo

o

ooooo

o o

o o o

0000000 O00oOoooooo

NKS Gate Door Wheels

NKS O 00000 0oooo

313762

P
E{?r—c
—

=

TAPAN

MONWHEEL l

=
D—

—D

RO HO
R 0000MO0000MO00000
0oo oooo|ooo 0000 (mm) 000 (ka) BB ooo oooo|ooo 0000 (mm 000(ka) | BB
00 |000 | be B E H |0000] BB No. 00 |000 | De B E H 0000 BB | No.

L- 75B| 8,130 4,870, 75| 150 (100 | 28 75 | 200 | 6002 | V- 50 | 6,350| 3,230, 50| 110 | 66 7 50 | 150 | 6002
L-100B| 11,460/ 6,870/ 100 | 180 [125 | 28 |100 | 300 | 6004 | V- 75 | 8,130, 4,250/ 75 |135| 95 7 75 | 200 | 6002
L-125B| 14,350 8,620 125 | 220 |148 | 28 |125 | 300 | 6004 | V-100 |11,790| 5,870| 100 | 170 | 125 | 11 | 100 | 300 | 6004
L- 75A| 9,230 5,540/ 75| 150 | 96 | 40 75 | 200 | 6002 | R- 50 | 6,350| 3,810/ 50 | 110 | 66 | 12 50 | 150 | 6002
L-100A| 12,880 7,750/ 100 | 190 |124 | 40 |100 | 300 | 6004 | R- 75| 8,130, 4,850| 75 |135| 95 | 12 75 | 200 | 6002
L-125A| 16,230 9,750 125 | 220 |150 | 40 |125 | 300 | 6004 | R-100 |11,790, 7,060| 100 | 170 | 125 | 17 | 100 | 300 | 6004
U- 75B| 10,000 6,000/ 75| 150 (100 | 23 75 | 200 | 6002 | H- 50 | 6,350| 3,810/ 50 | 110 | 66 | 24 | 50 | 150 | 6002
U-100B| 12,880 7,750 100 | 180 |125 | 23 | 100 | 300 | 6004 | H- 75| 8,130 4,850| 75135 | 95 | 24 | 75 | 200 | 6002
U-125B| 16,230 9,750 125 | 220 |148 | 23 | 125 | 300 | 6004 | H-100 |11,790, 7,060| 100 | 170 | 125 | 31 | 100 | 300 | 6004
U- 75A/13,230| 7,940/ 75| 150 | 96 | 35 75 | 200 | 6002
U-100A| 14,350| 8,620 100 | 190 (124 | 35 |100 | 300 | 6004
U-125A/17,980/10,810] 125 | 220 [150 | 35 |125 | 300 | 6004

0Vv500 V750 MO 0 13mmO V1000 20mmO 000 000000000000000000D000O000000O00O000DO0O0000O000000
000o0000000000000O00000000000O000O000O00O0

L e 000dodoooovoooood

G O0A oooooo 0000 (mm) 0Oo0o00 (BBNo. OOO
FCD SuUs S45C B F G | oooo ZZ | (kg)
BBOVO 50, — 9,230 | 3,230 37 | 24 | 13 | 24 |000000VRHS0| #6002 150
BBOVO 75 — 10,960 | 4,250 60 | 24 | 13 | 24 |VRH - 75 #6002 200
[iok fol T BBOVO100, — 16,350 | 5,870 77 | 31 | 20 | 35 |VRH -100 | #6004 300
50 @< [BBOVOI2S 8,000 | 24,420 — 103 | 31 | 20 | 35 |MGW-130 |#6004| 300
¢ ! BBOVO 150, 10,230 | 36,540 — 128 | 35 | 20 | 40 |[MGW-150 |#6204| 400
1 BBOVO175 12,880 | 48,650 — 153 | 35 | 20 | 40 |MGW-180 |#6204| 400
BBOVO200, 15,560 | 55,000 — 172 | 35 | 24 | 40 |MGW-200 | #6204 500
BBOVO225 18,670 | 64,040 - 197 | 35 | 24 | 40 |[MGW-225 |#6205| 500
I—'-i.— BBOVO 250, 22,210 | 76,730 — 216 | 35 | 24 | 40 |MGW-250 | #6205 500

ooooooboMewoOOOoOOO0DOsuUsOMCODOOOOO 20000000000

m U gdgogpooooodgoogoon
0o oooooo 0000 (mm) o000 (BBNo. OOO
S45C SUS 0000 A C |¢D| E MGW 2Z | (kg)
LD 50 5,190 | 13,460 | 3,080 | 50 | 35 | 25 70 100 #6201 200
LD 75 6,150 | 16,540 | 3,080 | 75| 35 | 25 95 100 #6201 300
LD100 8,270 | 20,770 | 5,770 | 100 | 35 | 25 | 120 130 #6204 500
LD125 9,810 | 31,730 | 5,960 | 125 | 35 | 25 | 145 150 #6204 600
o LD150 | 11,920 | 41,350 | 7,880 | 150 | 35 | 25 | 170 180 #6204| 700
LC 50 5,580 | 15,580 | 4,040 | 50 | 50 | 40 70 |0 0 100x 50| #6003| 200

LC 75 6,920 | 20,380 | 4,040 | 75| 50 | 40 95 |0 [J 100x 50| #6003| 300
LC100 9,230 | 24,230 | 6,150 | 100 | 50 | 40 | 120 |0 0 130x 50| #6204, 700
LC125 | 11,730 | 35,580 | 7,310 | 125 | 50 | 40 | 145 |0 [ 150x 50 #6205/ 800

LC150 | 16,150 | 49,620 | 7,500 | 150 | 50 | 40 | 170 |0 0J 180x 50| #6205/ 1000

T

ooooooooMewOOoOoOoOoOoosusomMcOOOOOO0 0000000000

e 000000000 ooog DDD]DDDDDJ—LGJDDIIIDDDDDD

0O000(mm) | BBNo. oooo 0000 (mm) BBNo 0000
QA D| E | G| 7Z boo kg | "E Hon oAl D E| G| 2z DO (kg
UG250| 430,190 |250|170|130|180 6208 | M6x 38| 1500 | UG400| 1,310,600 | 400| 240|180/ 250| 6311 | M6x 60 5000
UG300| 609,810 | 300|170 /130|180 6309 | M6x 46 | 2000 | UG450| 1,613,500 | 450| 240|180/ 250| 6312 | M6x 68 = 6000
UG350| 848,080 |350|170|130|180 | 6310 | M6x 54 | 3000
Jood00oDmoOooo00o020@moon

0-200

oo ooo




